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Linear Algebra — Part &5
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Is that possible?  For given matrix AC(E with eigenvectors X', x , ..., X
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Definition: A e (C " s called diagonalizable if one can find h eigenvectors of A
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such that they form a basis C



Example: (a) A0
A: <0 ) eigenvectors :> A is diagonalizable
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C _ ('\ ) , all eigenvectors lie in direction (0> _:> C is not
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Remember:  For AC,(Ehni

. 0((’)\) = )(7\) for all eigenvalues A <:> A is diagonalizable

A normal => A is diagonalizable

(Owe can choose even an ONB with eigemveofors>

) A has n different eigenvalues :> A is diagonalizable



